PRACTICE

A scientist weighed 4 grains of rice with a total weight
of 1.64 x 102 grams. Find the average weight of each

grain.
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PRACTICE

A scientist found 2 grains of rice. One weighed

1.82 x 102 grams and the other 1.3 x 10 grams. Find
the difference in their weights and write your answer in

scientific notation.
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REVIEW

How many times larger is 1.3 x 10" than 1.3 x 109 ?

[.3 % 8"
=z B0
T.‘w,r ‘Dn\.

| x 16"

[ /0]

How many times larger is 7 x 108 than 7 x 10° ?
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REVIEW

Evaluate the expressions and write in scientific notation.
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REVIEW

Evaluate the expressions and write in scientific notation.

(1.4x107%) +(6.2x107%)
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